K-Base Connector Lugs (LANDIS % GYR )

i

e T
(e b W = :‘\]
"‘\-\;"'-_\___.-"'.J'AHJ =g HH‘H\__-__:;'_\_:-_T -
e Lug Extender R
H68752-1 H59299-1 H56425, H56425M

- e -

L6
e
H61300
T

T
ey N R

HH—:;___.—-’ o ‘-n.:\'._?_____f,g? HH“H,,]__,:"'# H“‘ﬁ:‘:#.__.-"'f
H58852, H56733 H56427, H56427M, H58853  H37892, H55890-1, H55890 H56477
Device Anti-Rotation Stud Pressure Dimensions* (in.) Landis & Gyr
Type Feature Conductor Size Opening Screw Head L W H Catalog Number

No #6-350 MCM 13/32" 9/16" Hex 2-114 1-118  1-1/4 H55890

HQ-4S No #6-350 MCM 13/32" 5/16" Allen  2-1/4 1-118  1-1/4 H55890-1
HQ-5S No #6-350 MCM 13/32" 3/8" Allen 2-114 1-118  1-1/4 H57606-K
HQ-7S No (2) #6-250 MCM 13/32" 5/16" Allen  2-3/16  1-5/8 1-3/16 H58022
HQ-4D No #4-500 MCM 9/16" 3/8" Allen 2-13/16 1-1/2  1-9/16 H37892
HQ-5DM Yes (1) #4-600 MCM 916" 112" Allen 2-13/16 1-3/18 1-13/16 H60162
HQ-7D or
HQ-7DF No (2) #1/0-250 MCM ~ 9/16" 1/2" Allen 2-13/16 1-3/18 1-13/16 H61300
K-4,5,7 No (2) #6-350 MCM 9/16" 5/16" Allen  2-7/8 1-57164 1-1/4 H56425
K-4,5,7 No (2) #4-500 MCM 9/16" 3/8" Allen 2-13/16 2-1/16 1-9/16 H56425-M
K-4 No (4) #6-350 MCM 9/16" 5/16" Allen  2-7/8 3-15/16 1-1/4 H56426
K-4,5,7 Yes (2) #6-350 MCM 9/16" 5/16" Allen  4-15/16 1-1/18 2-1/16 H56427
K-4,5,7 Yes (2) #2-500 MCM 9/16" 3/8" Allen 4-114 1-118 1-13/16 H56427-M
K-5,7 Yes #3/0-800 MCM 9/16" 1/2" Allen 3-1/4 1-5/16 1-13/16 H56476
K-4,5,7 Yes #3/0-800 MCM 9/16" 112" Allen 3-1/4 1-5/16 1-13/16 H56477
K-5,7 No (2) #4-500 MCM 9/16" 3/8" Allen 2-13/16 2-5/32 1-9/16 H56490
K-5,7 Yes (2) #4-350 MCM 916" 5/16" Allen  2-7/8 1-59/64 1-1/4 H56732
K-5,7 No (2) #4-350 MCM 9/16" 5/16" Allen  2-7/8 1-59/64 1-1/4 H56732-1
K-5,7 Yes (2) #4-500 MCM 916" 3/8" Allen 2-13/16 2-5/32 1-13/16 H56732-M
K-4,5,7 Yes #3/0-800 MCM 9/16" 112" Allen 4-3/16  1-3/14 2-3/8 H56733
K-4,5,7 (Grd.)No #6-250 MCM 9/16" 5/16" Allen  2-9/16  1-9/32 1-3/16 H56734
K-4,5,7 Yes #3/0-800 MCM 9/16" 112" Allen 3-15/16 1-3/4 1-13/16 H58852
K-4,5,7 Yes (2) #6-350 MCM 9/16" 5/16" Allen  3-15/16 1-1/18 1-1/2 H58853
K-4,5,7 Yes (3) #6-250 MCM 9/16" 5/16" Allen  2-7/8 2-31/64 1-7/16 H68752-1

K-4 extender Yes 1/2-20 x 1-7/8" Stud  9/16" None 4-1/4 1-114  2-3/8 H59299-1




K-Base Lug Configurations

Residential Type K-4
Lug Group Optlan A

Fun b ot

ﬁ k Lug 56427 2 reg )
- 1 (HR-R5D M| —| T

I g GFRZA {1 nai.) ||
- = = T T HG-1S0 MICM| J|I|

Lugy 6425 12 rey

T ot Ao W) -
- - A
Tre.. Wmound Lug
. rwdichad
Group &
{hwrheadd
S

Girowp A
\Indkergr ined
CETIE

/
m o

Crerhoat
Srndon

(LANDIS 5 GYR)

Diplignal Lugs
Faw vy corafuckors/lsrmirel
Y
I“\ Lug S (2 reg.)
- il e R ? [ -]
lugspaTaiFran) | | /
- == (SR MK - [

| I__ Lurgg 5B 77 62 sy )

|y
- gzt Ao WCKy [ !__{{_

-'"J Tee-.. Groundiug .-
T onedicdsd

Unemeouend

Applicable NEC or local codes and practices will determine which method of feed and number of conductors are

required.

Devices ordered with lug group A include ground lug.
To obtain lugs separately, order by catalog number of individual lug connectors. See Product Schedule 497 for more

detailed information on available lug connectors.

Polyphase Type K-7

Connector Groups for Single and Parallel Conductor Wiring

_ BT R red
ll (T 84350 MR
G Lug
=" Included
Ciroup J
Faralic] 350 mem mas.
Dt read]
[ e e
B ey
I
__er'!.' Luy
g;*' Incirod
Cavaup
Haraled Rl miom mea
Cretwd
Srnaen

CRHERA (A ren.)

_I L (T B5-350 MDA

Gnwmil |1
7 el
T SETL (5 ey

wn &4 250 MCM|

Y

- |
Paraliel 30 mem ma

JI'IHEI'Q"[‘.'I]FG
Sewvice
=715
Y 6478 {U pevy.|
‘ I I___.--" FEEN RO WICM
L3roredl Loy
A Inchdead
it T :
Carmap L
S BO0 am 1
Lmrhosadd
Sarvicy

Check tightness of nuts with 3/4” insulated socket wrench.
Check tightness of Allen screws with insulated T-handle Allen wrench.
Applicable NEC or local codes and practices will determine which method of feed and number of conductors

are required.

Devices ordered with lug group A include ground lug.

ST Gy
L (T #2-500 WICM)

, Geond Lug
47 Incdudnd

T, SETANS 1A |
(T 4200 MOM )

Group A
Frazdlal SO0 mecn M

Uirieryeonand
SeEreins
. SHHGZ 4 g )
= b | SN0 M)
_ Erniind | g
" hizhnlead
e SRATR )
! T I |250-000 MCM|
R

Corpp et
Single S0U s s
Lirwsmyrraand
Servin



K-Base Bypasses (LANDIS 5 6YR )
Instructions for installing and operating K-7 rotating link bypass #69623

To install bypass:
1. Remove the 3 nuts “A” from the studs extending from the 3 bypass bars.

2. Assure that bypass feet are vertically positioned in relation to the bypass handle as shown and the 3 handle
screws are tight enough so that bypass feet do not turn.

3. Install bypass assembly with the handle screws toward the top edge of the bypass handle as shown. Slide the
3 bypass feet over the exposed studs, through the holes in the bypass feet.

4. Loosen the 3 handle screws approximately 1/8 turn using a small standard-tip screwdriver.

5. Re-install nuts “"A” and tighten securely so that bypass feet are in the vertical, non-bypassed position.
To operate bypass:

1. Loosen the 3 nuts “A” located on the 3 bypass bars, 1 full turn.

2. Loosen the 3 nuts “B” located on the line side current connectors, 4 full turns.

3. Slide the bypass handle from right to left, until the curved slots in the bypass feet rest against the studs on
the current connectors.

4. Securely tighten all 6 nuts “A” and “B”, while ensuring the bypass feet remain resting against the connector studs.

- CURRENT CONMECTORS

HANDLE SCAEW  --.
131 TYF, |

L\=/ - 1 [ __ EYPASS FOOT
T 3 TR

H-— BYPASS HANDLE

o . —— BYPASS BAR I3) TYP.
.
K-7 Block Assembly /

K-4 Bypass #56495

K-4 Bypass #56495, 2 required. For use
- when removing meter from K-4 mounting
device.

UAQ

K-7 Bypass #58888

K-7 sypass #5388, 5 requirea. ror use
when removing meter from K-7 mounting
device.

1. Loosen nuts “A” and “B” 4 full turns.
2. Place bypass under nuts, shorting -
across from current connectors to
bypass bars.

3. Tighten all nuts securely. K-4 Block Assembly

1. Loosen nuts “C" and “D" 4 full turns.
Place bypass under nuts, shorting
across from line to load side.

3. Tighten all nuts securely.

[
ﬁm‘l_l




(LANDIS 5 GYR)

CAUTION: K-Base mounting devices are not to be used as disconnect switches!

MU WITH
~+—— GCLLLVILLE
VWASHFR
FLAT
WARIIFA
| 2
Install Flat Washer On Top
Of Connector Lug
K-Base Torque Specifications
Connection Part No. | Stud Size Wrench Size Torque
Lug Mounting 56271 112" - 20 3/4" Hex 500 in-lbs.
Nut/Washer
Meter Mounting | 56271-2 | 5/16" - 24 112" Hex 150 in-Ibs.
Nut/Washer
Lug Wire - - 5/16" Allen 275 in-Ibs.
Binding Screws 3/8" Allen 375 in-lbs.
112" Allen 500 in-lbs.
( )
&
B

Inzulated 172" Magnetic Hex Snchet

For Uss With Insulated T-Handle.

For Use With 1/2° Melor Mounling IngulatedT-Handle Wrench

Angl By pass Murs. #GO232-1 With 172" Socket Drive

© 2005 Siemens Energy & Automation, Inc. All Rights Reserved.

Siemens is a registered trademark of Siemens AG. Product names mentioned may be trademarks or registered trademarks of their respective
companies. Specifications are subject to change without notice.

SEA Order No. RPMR-LG001-0605 New 1MO605PG Printed in USA



